The public interest
score is calculated
based onthe

following factors

Number of Employees

After arriving at the average number of
employees in the company, one point is
allotted per employee.

Third-Party Liabilities

The total amount of third-party liabilities
is calculated. After that, one point is
assigned for every R1 million in third-
party liabilities of the company.

Turnover

Dne point is allotted for every R1 million
or portion thereof) in a company’s total
turnover during the financial year.

Number of Stakeholders

One point is assigned per individual
having a beneficial interest in the
company.
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